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t 1, Answer the following as directed :
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Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
' . for the questions

Answer either in English or in Assamese

1x7=7
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(a) Shorter truth-table method is also,
known as the method of ‘Reductio ad
absurdum’. Is it true? :
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(2) | (3

(b) The symbol is used for universal | 2. Write short notes on /Answer the

quantification.  ( Fill in the blank ) following : = . 2x4=8
—_ ABRH R ARTEIR PR I wﬁumwmmmm
INHI | (AR F) (a) Why is shorter truth-table method
() Write the name of the symbol @x). ca11¢.3d an indirect truth-table method?
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(d) (p>q=(~pvqg—what is the name of

Decision procedure
this rule? ‘ ®) P

o fa ol
(P2 g =(~pvq) —d& FRawcsR 7™ B2 o
o ' ' , (c) Inductive leap
(e} State the rule of ‘Modus Ponens’. )
SIS |9
‘Modus Ponens’ &b ¥a1d 301 '
‘ (d) The law of causation
i i three/four v
0 It?ducuqn proper is of two/ /. i AR
kinds. ( Choose the correct option ) ,
WWW W SR 2 | 3. Answer any three of the following
questions : 5x3=15
' ( w5 Rew TR Ser )
v | fafRe R @ foRbT er Teg o
@ How many. k1nds of ground of (@) Examine the validity or invalidity of the
mductmn? | fé given statements by using shorter
wseee O (e 2 ' truth-table method.
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(4) (5)
Y S-Sl TR SIS SRR (e 3 (iv) No philosophers are scientists.
3 eIy Rdfg | T T T SR |
) p-9d>p o
.. : (v) Some men are not intelligent.
) [(pvg-~plogq ~

g Tz = P |
‘(b)) Name any five rules of inference. '
(d) What do you mean by ‘the law of

EU R e =fibr R o | uniformity of nature’ ?
orgfeq werel R e B 12
(c) Symbolize the following statements by ,
using quantifier : 1x5=
() What is scientific induction? Write
e TR IR lilili. e l.il\" 'T.i three characteristics of scientific
SO PFa 741 : induction.
(i Some men are honest. | [ S PR @ ? TENE S
|
P Fofier by Fre
(i) Everything is movable. 4. What is formal proof of validity? State ten
TR W R | rules of replacement. 5+5=10
) A, . | orefde aver a2 Rew afdgrrm (Rule of
mangoes are sweet.
: replacement) %251 5@ I o T v
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(6) (7)

- Or/9qr . . N 6. Define cause. Explain the qualitative

Construct formal proof of validity of the j: marks of cause. , 5+5=10
following : 5+5=i; IR KT A | TR SIS TP T 1
ST AR SR (34T o I ; Or /&l
(@ 1. (AvG)oS Explain  universal and  existential

2. A-T/-S . , quantifiers with suitable example. . 10
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2. KvJ)>oI o THIRE SIS W 39

3. Jv M |

4. ~J/.I. ' * kK

S. What is shorter truth-table method?
Determine the validity or invalidity of the l&

following statement : 5+5=1|
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What  is  induction? Explain the

faary
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characteristics of induction.
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